MBI L B/NO7BEE TR 25 4 8 BATERMSNETR AB:147+1A
ﬁ 3H4H R H— 3H5H B 3H6H = 3H7H EH 3H8H EHIT
wH emem | BE |l aves e oW enel | smE |ew eneR mE o enels | #5E
ER| ATk + KG |8 WK KR
R 0.3KG AR 0.6KG A Z ik 0.1KG B4 0.3KG
AR 0.1KG SREANIEE f <1 B> 11KG FEE+ 2KG B A< pijii) KL EEE) %% 0.6KG
w [P 1KG| & [148%2 : BHEF T EEEN 3KG| uy [+ SKG| & | KB4 [T
2 | @ [BTCAS< L@ 12KG fg*ﬂ 'l AR R T SKG| =t |FRIAH <AZe> 6KG \i%f SptiE SKG
K| 7 a5 B | A (GYB<R %> K| 5 |ETEGIEHOE KG
o f W o
AZEE R 2KG 3 0.6KG =5 0.3KG B4k 0.2KG 4 1KG
= KEEINE )+ 8KG| Bz fa (SEi%) S| = UL EE A IKG| y |BHAR<IGEZ> 8KG| T8 |Z(F %) 2KG
Bl | o | REERGED) TR % |[FRAsR<RZ> KG| 7 |4 10KG| g | EAEGYB<KZ> 1KG gf PEE+ 2KG
R | |t KG| DN |EETH IS 10KG| R |MEH GG  3KG| H w PR 8KG
® Drntgarze KG| ¥ # 7’ %
#| 2 [ 06KG| P |HHETE 10KG o s 10KG Tfl L 10KG
% | o [ AEGEE 10KG| 7 % i
H (A 1KG B 0.IKG|  |E% OIKG| p [KE3E 4KG| 4 [FTNT (430 4KG
o | 2 [HEHFOEE SKG| & |[BJRGERDEED) KG| B | mBu 1.2KG R IKG| gg |[PEEK 2KG
g i TR R DT> IKG| /K [KEE<AE> 1KG g 7 fifgEuA L2KG| B |[AE& FETF|
i M 03KG| 5 [TCAS-<E@] kG| ¥ [ KBEHAkZE 1ka| k
3= Zi B
- NEN = 4stn] o |emanRor] 1474 146 A B Bl R>0 14871
=t 3680 = 5557 =t 5557 z 2879 =t 5155
A e ] e ] B s i SR Prap—
§ ARRER 34 AR 34 ARMRER 3.4 AEREE 3.4 AERIE 48
. WEEER 2.5 WETEE 26 WETER 27 WEEEE 23 W TSN 23
ol SHAESE 32 A 3.4 SHASHE 28 SHASE 26 SHAEME 2.5
N o] 1.8 S LS E 1 P 1.9 I 13
. KA KA 1 KRS 1 KR AIE 1
BEKRD 615 BEKR 684 FECKR) 712 BECKT) 575 BECRR) 714
I EACEARAAG] PATME

rE EINE

w: [EA LR



